EARAZROREIERT — 2 N—XBISY —F 2013548308 (k) 1[@EI#EFN2H

mﬁ‘& Cl1= ¥5%—#& (w8 | mEmml - |5 ) w8
[AE4£] 1% :1,200,000 @ ~ 237 :360,000 " . 33&:204,000 ™ 4 3&:156,000 @ 5 7 :120,000 M
A % E BERR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
1 g| V= FF— L g%ﬂ(i)"?' 1:38.0 6-6-6-4 |40.0| — | 2 | 475 *%))\j((g@
: (=)
R:T727F7 BTFAFYTPRAb (#2) He HFx
s — S j‘ : =|=|l= — ¥ 0
2 A 4 gi‘ii_E‘(i)PJ 1(.33/84.)1 1-1-1-1 | 41.2 5 :119) l%l?l;i (at®)
QA bhk—L B:OA-YxRy b pllE e
356 FU—LKILE # 5 | SEER o 9-9-8-6 |40.1| — | 4 | 532 %Eﬁ% (1)
BRI BikTL/ T ER 9 Soss
alsls | T—F1—TFHK- # 5 ?é?gﬁ?— 1(/3{;:)3 4532 |41.2| — 1 ;1_7“5) ‘ﬁ;ﬁ; (11ie)
RigAFT 0 ML BiEHIVIA—2 Al #—
5 0| =tz —K H 5 fg%oﬂﬁ 1:38.4 12-10-7-5 | 40.0 | — | 3 | 484 %\ﬁ\é:i (G
: 172 %
LAHTINIS A~ Bia-NI—Z—> e ®) arr—.
617|g| KTT>%2 b H o4 5—:(5%@1 1(:13/82.)5 3323 |45 — | 7 (4:1; E}igg (hatE)
Lirq Lk—5b BLAFzib =it fi—
21l | 751802 -5% it 4 gilﬂgnﬁi 1:(369>.6 5-4-5-7 | 42.0| — 8 415 Eﬁéiﬁ;ﬂ(mfx)er
R:A-I>TUr BRFHINZVINF 9 | eaems

g P : 7-10- - EHA (1)
Eﬂ 4 1>F454 k 4 4 580 1.(319).8 8-7-10-11 | 41.4 9 452 el A

R:TPLERF A9 ITA N BiaLTLA @0 | 920 sarte - 77— nERE
91811 ZIZT_ L= & 6 ;fg*#ﬁi 1(:13/92.>9 10-11-11-10/ 40.5 | — | 10 (gg) Eggi (##n)
L:tr/a7Aaqd BIXV-XbEAL4 REHS
1017110 /]’\y:E:/“ElijA—,,f—*/ ‘ , # 5 gﬁl)kﬁ (11:410/.22) 7-8-9-9 (420 — [ 11 (4_535) fgﬁgi (#ats)
L7787 149 774 B Fvs4Ta ke
EHS i:fsz;for B rETU— e ;ﬁ%ﬁf 1<74?:>2 AR e I ﬁ;) E{%ﬁ%jm
@ 1 —F—EAIE
13=zr= 7,3,9,5,1,8,10,4,6,11,12,2
2a=7r= 7,3,9,1,5,8,4,10,6,2,11,12
BEE 7,9,5,3,1,8,2,6,10,4,11,12
43—+ — 7,5,9,8,2,6,1,3,10,11,4,12
[ 7N
B OB 8 370 74K 7-8 460MH % E 6-6 1,790H &8 6-7-8 1,830M
7 B 8 140M 6-8 3409 | | B 6-6 1,730 | [ 3EE 8-7-6 11,9004
7 240H 6-7 570 B E 7-8 1,630
6 170M BB 8-7 2,900

ABICOVWTRDTEEERROODE. TR LIV,



